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Zeile Nr. Geschlecht Frage 3 Mittelwert (gewichtet – geht auch anders)
1 17 w 0
2 1 w 3 Wert Anzahl
3 2 w 3 0 1 0
4 14 m 3 1 0 0
5 8 m 4 2 0 0
6 30 w 4 3 3 9
7 4 m 5 4 2 8
8 9 m 5 5 3 15
9 32 w 5 6 5 30

10 3 w 6 7 9 63
11 11 w 6 8 7 56
12 20 w 6 9 6 54
13 31 w 6
14 33 w 6
15 5 m 7 Summen 36 235
16 10 w 7
17 12 m 7 Mittelwert: 235 : 36 = 6,53
18 16 m 7 Median
19 18 w 7
20 24 w 7
21 25 w 7
22 29 m 7
23 36 w 7
24 13 m 8
25 15 m 8
26 19 m 8
27 22 w 8
28 23 m 8
29 28 m 8
30 34 w 8
31 6 m 9
32 7 w 9
33 21 w 9
34 26 m 9
35 27 w 9
36 35 w 9

2,3
10,7

4,4
8,6
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Mittelwert (gewichtet – geht auch anders)

Mimimum 0

Modalwert: 7

Maximum 9
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